
 

 

 

1

Office of the Dean Research and Development  
Indian Institute of Engineering Science & Technology (IIEST), Shibpur 

Howrah-711 103 
 

Project Code: DRC/DST/CEGESS/CB/007/15-16 
 

Centre of Excellence for Green Energy & Sensor Systems 
Indian Institute of Engineering Science & Technology (IIEST), Shibpur 

Howrah-711 103 
 

Tender Advt. No. CGE 1367, dated 18.04.2018 
 

Notice Inviting Quotations 
 

Sealed quotations are invited for the supply of  
 
Item 1. Pump Kit. 
 
as per the following technical specification. The technical specification can be 
downloaded from the website. The document can be also obtained from the 
Centre of Excellence for Green Energy & Sensor Systems (Contact: Dr. 
Sumita Mukhopadhyay) between 10.00 a.m. and 6.00 p.m. on all working 
days. The invitation is valid for 07 working days from the date of publication 
of this notice.  
 

 
 
 

Dean (R & D) 
 
(A. Code DRC-T005/18-19) 
 

 

 

 
 
 
           

  
 
 
 

 



 

 

 

2

SECTION I: TERMS & CONDITIONS  
 
 

 
1. The last date of receipt of quotation is valid for 07 working days from the 

date of publication of this notice. Quotations received later will not be 
entertained under any circumstances.  

 
 

2. Potential supplier  are to submit the quotations in Sealed Cover to the Centre of 
Excellence for Green Energy & Sensor Systems in the following address: 

                                      
     Dr. Sumita Mukhopadhyay 

                                   CEGESS 
                                   IIEST, Shibpur 
                                   Howrah-711103, India 
 

 
3. Item name  must be mentioned on cover 

 
 

4. The price quoted should be inclusive of all Taxes in INR, duties and levies. Inclusion of 
Tax/Levy at a latter stage will not be accepted. Freight, Insurance charges should be 
clearly indicated. If GST is chargeable then price quoted should be inclusive of GST in 
INR. 

5. Vendor should have proven track record of supply in IIEST, IIT, NIT, IISc. 
 
6. Commercial Papers duly signed & must be attached. 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



 

 

 

3

SECTION II: TECHNICAL SPECIFICATIONS 
 
Item 1. 
  
 Pump Kit 

 
 M4X40LG S/HD CAP SCW 
 SCR CAP HT N1 M6X. 65 LONG 
 SCR CAP S.ST M4X12 
 M5 X 40 SOC HD CAP ST STL  
 SCR M8X25 CSK SKT HD GRD12.9HT 
 SCR M8X35 CSK SKT HD GRD12.9HT 
 NUT THIN MS M30X2.0 TO BS3692 
 WSHR S.COIL M4 
 WSHR SP ST.ST.INT M4 
 ORING VIT 174.51D X3.0SEC INT 
 SPARES KIT LABEL 
 LABEL-PLAIN WHITE 877/99X149 
 ANGULAR CONTACT BRG F-2366 11.2 
 A-C BRG. 7007BEG 2RS – L260 
 CARTON 310 X 220 X 60 INT DIMS 
 KEY 4X4X12LG FORM A – BS4235 PT 1 
 A25908150 KF25 FLANGE RING COVER  
 BLANKING PLUG 19MM 
 PLUG ORBITING SCROLL 
 SHAFT END CAP 
 4X6 POLYTHENE BAG 
 6X8 POLYTHENE BAG 
 ZERUST BAG 127X152MM 50UM THK 
 PROTECTION CAP NW40 LOPE KM40 
 O’RING VIT 11.11D X 1.65SEC IPI 
 O’RING VIT 49.51D X 3.0SEC IPI 
 O’RING VIT 159.51D X 3.0SEC IPI 
 BUBBLE PACK D90 240 WIDE 


